24170
B. Tech. 4th Semester (ME) Examination, May-2016
KINEMATICS OF MACHINE
Paper-ME-204-F

Time allowed : 3 hours] [Maximum marks : 100

Note : Question 1 is compulsory and attempt aﬁy one of

the question from each section.

1. Explain the following :
(a)  Definition of Reéistant body.
(b)  Difference between machine and structure.
(¢)  Degree of freedom.

" (d) Define Kinematic pair and explain all its types

with example.
(¢) Explain Laws of solid friction.
(f)  Explain types of Pulleys.
(g) Define Module.
(h)  Define cam and its type. 2.5%8=20

Section—A

2. Inaquick return motion mechanism of crank and slotted
lever type, the ratio of maximum velocities is 2. If the

length of stroke is 25 cm, find
(i)  The length of the slotted lever.
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